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SN FB - S2A(3) - MEAY - BES 0 &t o4 i HRE2
XA Ml 3,897,671 2,844,612 1,053,059
= 1,591,160
= 786,524
Al 1,519,987
MeHAlE =4 242,933 1,248,600 21,005,667
& 40,160
& 6,024
Al 196,749
MehAlE S0at 66,933 1,150,000 A 1,088,067
& 40,160
& 6,024
Al 20,749
HEANE AES ALY 66,933 0 66,933
= 40,160
= 6,024
Al 20,749
401 A &HIZL 2048 66,933 0 66,933
= 40,160
& 6,024
Al 20,749
01 Al&H| 66,933 0 66,933
OZAFANLSAEHIAY (3154 &I|S)
58,333,000& 58,333
= 35,000
= 2,584
Al 20,749
OFSANZOIAILEB(HANLS)
8,600,000& 8,600
= 5,160
= 3,440
MeHAIE &L XSBHEA G 176,000 98,600 77,400
MehAlE & ZHEds 22 46,000 52,000 26,000
201 LetEHH| 24,000 28,000 24,000
01 AFR22lH| 4,000 8,000 A 4,000
OMeANFASHLELSE 2 4,000,000 4,000
02 2234l 20,000 20,000 0
OMHAIZHINSANESZTRI LR EHI
20,000, 000& 20,000
307 212t01& 22,000 22,000 0
04 QIHHAIE X 22,000 22,000 0
OMHANZFLXN I MELS}SH 22,000,000 22,000
NS BN &zt 130,000 34,600 95,400
201 et 4,400 8,000 A 3,600
01 AFR 22l 1,400 2,500 21,100
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OLHIANEHMAOR RS = 1,400,000& 1,400
02 23234l 3,000 5,500 A2,500
Ox&=Abl 3,000,000& 3,000
202 O4H| 2,000 3,000 A 1,000
01 =LA bI 2,000 3,000 A 1,000
OZME2ot22 bl 2,000,000& 2,000
203 HRF&H| 9,000 9,000 0
03 AIBMFXAHR =&Y 9,000 9,000 0
OXNSZ NI AMMFRLRFE 9,000,000 9,000
301 LEtEAZ 9,600 9,600 0
12 JIEtE 43 9,600 9,600 0
OSIIELHQAESEAZ
80,000& 10H «12& 9,600
306 == 105,000 5,000 100,000
01 &3 105,000 5,000 100,000
OXNGXEH 88 IIZXNXSHHA EHZ
5,000,000& 5,000
Oaax30 XAIS &AH (A )
100,000, 000& 100,000
OlXIotd 2 ZZIHA 22,200 22,200 0
=28 UK 32 22,200 22,200 0
SEHQ Ol X22] 22,200 22,200 0
201 LBt A 16,700 17,700 A 1,000
01 AtE222|H] 1,500 2,500 A 1,000
ONASE=EZN 2 1,500,000& 1,500
02 2223l 15,200 15,200 0
OFIIQHER S+ 2 (HATGTEY)
3,500,000& 42| 14,000
ONSEIHS LAl =X F b
3091 210,000 *43] 1,200
202 (4 Hl 3,000 2,000 1,000
01 =LA bI 3,000 2,000 1,000
ONAZ0HXI 2l bl 2,000,000& 2,000
OEJIHEFLAUL I MBS 1,000,000& 1,000
307 gI1z2told 2,500 2,500 0
04 CIZFHALE X 2,500 2,500 0
O XEdSHUI M= X2 2,500,000& 2,500
IR XK 3,591,318 1,032,592 2,558,726
= 1,551,000
= 780,500
Al 1,259,818
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SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
Ngadex e (SEHNSE3H) 891,267 559,592 331,675
LUBHAAEHT] 2tel 60,000 20,000 40,000
401 Al&HI YL SO 60,000 20,000 40,000
01 Al&H| 60,000 20,000 40,000
Ogeratd &txl2tel 60,000,000& 60,000
HiHlb(SgHXSE) 831,267 517,134 314,133
801 OllHlbl 831,267 517,134 314,133
01 olldldl 831,267 517,134 314,133
oollgldl 831,267,000& 831,267
gz ye2st 275,151 343,000 A67,849
SIS 2I N 275,151 343,000 A67,849
201 LEH2HH| 1,000 1,000 0
01 AtR22/Hl 1,000 1,000 0
OJIgNEL AT MR 2H
1,000,000& 1,000
202 O4Hl 6,000 6,000 0
01 =W 6,000 6,000 0
OsAJ1g XNJAYR ¢l 2,000,000& 2,000
O=gsaaddAFA (bl 4,000,000 4,000
306 9= 268, 151 276,000 NT,849
01 ¢ = 268,151 276,000 AT,849
O8I N3 £24(FIE)
200,000, 000& 200,000

0,000, 000& 20,000

36,000,000 36,000
OG-CI AtQIOH AL X & 12,151,000& 12,151
ga3ds == 65,000 75,000 210,000
= 2,000
S 6,000
Al 57,000
saJY #sXE 45,000 45,000 0
402 BI2H 201 45,000 45,000 0
01 2IEX=E X 45,000 45,000 0
OSXJ|g==2HLNSSANA=2HIS A
el 30,000,000& 30,000
OSSAA JIge g2z gsX&
15,000,000& 15,000
OHHE XIZ(SUHEAISEIDILTR) 20,000 10,000 10,000
& 2,000
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T 6,000
Al 12,000
402 QI2tXE01 A 20,000 10,000 10,000
= 2,000
o= 6,000
Al 12,000
01 QIZtX28 X 20,000 10,000 10,000
O=WEAIZ &I XA 20,000,000& 20,000
= 2,000
== 6,000
Al 12,000
MOIAAELR A X & 2,359,900 55,000 2,304,900
= 1,549,000
& 774,500
Al 36,400
MOIAAELR 2t 36,400 55,000 A 18,600
201 Et24| 36,400 55,000 A 18,600
02 =323l 36,400 50,000 A 13,600
OMOIAAELY 22lb] 2,200,000& 12& 26,400
OMOIHAAER HA=7 A 10,000,000& 10,000
FIER 87,8 XNALMSHH 2,323,500 0 2,323,500
= 1,549,000
& 774,500
401 AIEHIZ 20b] 2,323,500 0 2,323,500
= 1,549,000
= 774,500
01 Al&HI 2,093,600 0 2,093,600
OBIN=SRES SHX A A HE (H2KM0] A A
EIRN)AEEHES 539,000,000 539,000
= 359,340
& 179,660
OFI=2E7 . SM XA ML EHE (H2K0] oA
EtR )2 & S A ,554,600,000& 1,554,600
= 1,036,400
T 518,200
02 2yl 200,000 0 200,000
OFI=2E7 . SHXA ML EHE (H2K0] A
Etl) & 22 200,000,000& 200,000
= 133,330
T 66,670
03 AI&=20l 29,900 0 29,900
OFI=2E7 . SHXA ML EHE (H2M0] A
Et) & 29,900,000& 29,900
= 19,930
T 9,970
HYS2HHH(XNSEE M D) 41,220 41,220 0
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Jl2Z 8 (XAt 41,220 41,220 0
JleZdl (X< ZH ) 41,220 41,220 0
201 Let2d| 11,340 11,340 0
01 AtE22(Hl 11,340 11,340 0
ORM2ZE AR2ZEIHI(SE) 11,340,000& 11,340
202 O4Hl 26,880 26,880
01 =W 26,880 26,880
OJI2gR=380tl(14%) 26,880,000& 26,880
203 HRF&H| 3,000 3,000
04 FN2IHRFAHI 3,000 3,000
OfRMSILRFZHI(15210]6t)
250,000 «12& 3,000




